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Part A: Grammar and Vocabulary
Directions: Questions 71 - 80 are incomplete sentences. You will see four words or phrases, mark
1), (2), (3), and (4) for each sentence. Choose the one word or phrase that best complete the
sentence. Then mark your answer sheet.

71)- In the milk way, as our galaxy planet from the Earth is Neptune.
1) as far as 2) far 3) farther than 4) the farthest
72)- The company cannot offer more information about its new product.
1) many 2) much 3) few 4) a few
73)- Within these past years we have gone really a lot.
1) to ski 2) skiing 3) skied 4) ski
74)- Talk quietly, your voice by the neighbors.
1) must hear 2) must be heard  3) could hear 4) could be heard

75)- If the parents have not the ability to understand children, they may become
nervous or burst into

1) tries 2) cries 3) tears 4) angers

76)- To a dictionary many words and definitions have been searched.
1) compare 2) consume 3) convert 4) compile

77)- Ants live in large groups and together thus they are insects.
1) special 2) social 3) seasonal 4) singular

78)- A person's personality reflects his or her ...

1) health 2) addiction 3) relatives 4) identity
79)- Air destroys the lives of humans and animals.

1) blow 2) conditioner 3) pollution 4) use up
80)- Ancient places with amazing nature many tourists each year.

1) absorb 2) attract 3) gain 4) get
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Part B: Cloze Test
Directions: Read the passage and choose the word which best fits each gap. Then mark the

number on your answer sheet.

The brain is an organ (81)------ is located in the head and close to the eyes. It (82)------
control thinks, emotions, and actions like speaking, listening and writing. The brain is (83) -

-------- up of 75 to 80 percent of water. Water carries essential acids (84) ------- the brain
and collects carbon dioxide -------- it.
81)-
1) what 2) whereas 3) which 4) where
82)-
1) must 2) should 3) can 4) may
83)-
1) make 2) made 3) making 4) maked
84)-
1) from-to 2) from-in 3) to-from 4) in-from

Part C: Reading Comprehension
Directions: In this part you will read two passages which are followed by three questions. Choose
(1), (2), (3), or (4) and mark your answer sheet.

Passage (1)

These days, the term Artificial Intelligence is used a lot. Artificial Intelligence which is
contracted as Al refers to the ability of a computer or a robot to think and learn. These
abilities make the machines smarter for solving hard problems based on all information they
have gained before. The process of making Al and improving it needs the different fields of
mathematics, linguistics, psychology, neuroscience, philosophy and especially computer
science. Today Al mostly used in video games, self-driving cars and some chat software.
Some people believe that Al would endanger humankind in the future by changing the style
of humans' lives completely, and destroying some job opportunities. However, it is clear
that we need to prepare ourselves to face the new age of Al.

85)- What is the best title for this passage?

1) The Term of Artificial Intelligence 2) The Danger of Al for Mankind
3) What Is the Reality of Al? 4) Artificial Intelligence
86)- How many sciences do we need to make an Al?
1)5 2)4 3)6 4)3
87)- Why are some people afraid of Al?
1) It's dangerous for thinking. 2) It changes the style of thinking.
3) It endangers humans' jobs. 4) 1t changes the lifestyle completely.

()
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Passage (2)

Basic English (British American Scientific International and Commercial English) is a
controlled language that had been made by the linguist Charles Ogden as an international
helper language. After World War Il he decided to present English in a complete and simple
form which could be learned by anyone. At the first level, Basic English just embraces 850
chosen words and some easy grammar rules. The words are the main roots of English words
but for a standard level of Basic English, he prescribed 2000 words (the main root 850
words, 200 international words, and 1000 words for the general fields of trade, economics,
and science). This 2000 word vocabulary states "what any learner should know".

88)- What was the most important goal of Ogden to form Basic English?
1) Helping students to learn English.

2) To make a standard level for English.
3) Showing the simple form of English.

4) To generate an international easy shape of English.

89)- The word embraces means:
1) shows 2) makes 3) has 4) gets

90)- Prescribed is a synonym of:
1) taught 2) created 3) found 4) suggested
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